A Z0|LHM (FM2E)
[ 7FBESkrAIRA |
2 (700ARHBIE  E:(710)FYBIE  MEh(714)&8|  =:(200)= 18| (TR 29)
e e | T80 | =2
g Al 34,421,466 33,452,382 969,084
700 AtBlE 14,144,966 | 14,834,707 2689,741
710 EYsE 13,804,966| 14,685,636 A880,670
714 RH| 811,200 562,287 248,913
200 =] 811,200 562,287 248,913
201 YBL2AH| 9,200 9,200 0
01 AR 7,200 9,200 /2,000
O Y24 7,200
o ot RAlY| 22F Y 600,000 x 12& = 7,200
13 iz 2,000 0 2,000
O A2| 1756 QAL CHEZ 2,000,000 = 2,000
206 A= 2,000 2,000 0
01 ez 2,000 2,000 0
S5O FAIZEIE Az Y 2,000,000 = 2,000
214 SR wAH| 800,000 551,087 248,913
05 HARAMH| 800,000 551,087 248,913
Otz 24 4 RAIES A 800,000,000x14] = 800,000
715 HIZZH| 22,000 0 22,000
200 =7 22,000 0 22,000
214 HRA|AH| 22,000 0 22,000
05 HARAMH| 22,000 0 22,000
OSAEEZE F4H| 22,000,000 x 1A} = 22,000
716 2|3 10,494,364 10,351,401 142,963
200 =] 2,379,521 2,006,754 312,767
201 YLBH2AHH| 184,808 154,294 30,514
02 3323 21,600 21,600 0
O S&3r22AE RAFEAAH 22[EH(CATVES)
1,800,000 x 12& = 21,600
(A == 6,534 6,534 0
O YegH| 6,534
o BHE7|IZAIE 29 6,534
- 7F8EScr A2 A HElEY AlderE
363,000 x 15214 x 1271d = 6,534
13 Y= 10,000 10,000 0
O 33x2Ad EA| tiRz 10,000,000 = 10,000
21 S3aYAM 146,674 116,160 30,514
O stles 146,674
0 S&oITAEAE Y Ex22lAlE 42,440 x 244341 x 12¢ = 124,265
o St AISAIAR 42,440 x 44314 x 128 = 22,409
207 SR 84,100 84,100 0




A

[8:(716) 212 4H|
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01 ¢S24y 84,100 84,100 0
O BIIEAY 22 84,100
o RIZIREN HIFEV} o2 (Rix) 4,100,000 x 14| = 4,100
o QIZIEr HufHI} fr2(Z ISl 80,000,000 x 1Al = 80,000
214 £ERA LA 349,204 205,000 144,204
05 $£HRA|H| 349,204 205,000 144,204
O SHH7|ZA1E 2Y 349,204
0 S5otTA{EAE RAES 50,000,000 x 14l = 50,000
0 BESHEHENI TS 44201 of o)
283,204,000 x 1Al = 283,204
0 SABHS HPISHEEED 6000000 x 14 = 6000
0 S&otAElAE TV [2*{2[H| 10,000,000 x 14! = 10,000
215 4| 1,761,409 1,623,360 138,049
O d7|AEeZ 1,761,409 1,761,409 1,623,360 138,049
0 S5otrA{elAld 12,672,000 x 7742 x 12€ = 1,064,448
0 APE2E 352 |A1E 739,200 x 14744 x 128 = 124,186
0 SAHHIY 105,600 x 195744 x 12¢ = 247,104
0 Ex{2[Ald 26,400,000 x 1704 x 12€ = 316,800
0 ol ASA|IAE 21,120x 35704 x 12€ = 8,871
300 Zaold 8,114,843 8,284,647 A169,804
307 gIztolA 8,114,843 8,134,647 A19,804
05 QIZtR|EF 8,114,843 8,134,647 A19,804
O HH7|ZA14 23| 8,114,843
0 BISAHENE SR DRILIEI17HA)
4,245,113,000x 1H = 4,245,113
0 BBSHRHEIAI HA|(OFEH| HA ) SoixHel)
1,985,026,000 x 14 = 1,985,026
0 Bxx{2/Ald 2EE2| UURIES 970,375,000 x 14 = 970,375
0 Brx{2|Ald S2A| X2|H|(ZLH]) 642,569,000x 14 = 642,569
o £ATMS 22| RIZIEZ(77H4) 271,760,000x 14 = 271,760
308 ARR|HAISOIM 0 150,000 A 150,000
07 AR|[CHAIZIREZ 0 150,000 A 150,000
751 ukzta|d]| 2,477,402 3,771,948 A1,294,546
100 QIZH| 1,692,461 1,791,953 299,492
101 QIH| 1,652,461 1,751,953 299,492
01 B 1,193,348 1,246,393 A53,045
O 7l2s 786,797
o YU 771,369
- 55 (HEA) 7,293,660x 1&H x 12¢ = 87,524




(710099818 Mlgk(751)ek2ld]  =:(101)Q17H| E R
T oaaE ot | Gl | B

- 65(2823) 4414,490 x 7Y x 12¢ = 370,818

- 75(1523) 3,294,470 x 5% x 12¢¥ = 197,669

- 82(1338) 2,813,730 x 2@ x 12¢ = 67,530

- 92(62) 1,992,810 x 2% x 12€ = 47,828

0 ZEHSE 15,428

- SENER 771,366,240 x 1.0% = 7,714

- A7 771,366,240 x 1.0% = 7,714

O d24Y 76,937
o ¥dad 704,357,590 x 1/12 x 50% x 23| = 58,697
o 2 EHE 18,240

- 25104 130,000 x 4% x 12% = 6,240

- 20'H0[A~25A0] 0t 110,000 x 4% x 12¢ = 5,280

- 15\H0[A~20A0] 2t 80,000 x 2% x 12¢ = 1,920

- 108~1540|t 60,000 x 5% x 12¢ = 3,600

- 5E~10A0[2 50,000 x 2% x 12¢ = 1,200

O 7E=EsY 16,800
o HiR2} 40,000 x 179 x 12% = 8,160
o B 20,000 x 10% x 12¥ = 2,400
o FAVIZ(EH) 60,000 x 7% x 12% = 5,040
0 FA7IS (AR 100,000 x 19 x 12% = 1,200
O Y32 17,103
o 52U 4,377,060 x 3% x 4.10% x 12¢¥ = 6,461
o 65Ci* 3,744,490 x 4% x 410% x 12¥€ = 7,370
o 720% 3,152,090 x 2@ x 4.10% x 12¥ = 3,102
o URIFATY MMM 16,931,340 x 1.0% = 170
O YRChl=F(12) 200,000 x 2% x 12¢ = 4,800
O deied 270,000 x 17% x 12¢ = 55,080
O R0IF2ASY 22,800
0 ROIFATLE7HE7HA)) 1,500,000 x 1% x 3% = 4,500
0 ROIFATIUIHEMEE) 1,200,000 x 1% x 92 = 10,800
0 |OIFAITIH(OMe|=)37h 2,500,000 x 1% x 38 = 7,500
O ARIRIFZH2IZET) 76,443
0 62 12,321 x 7Y x 35A12F x 129 = 36,224
075 11,130 x 5% x 35A12F x 129 = 23,373
0 8= 9,992 x 2% x 35A12F x 12€ = 8,394
095 9,160x 2@ x 35A|ZF x 12¢ = 7,695
0 AlIRISE HRIWM 75,684,420 x 1% = 757
O HUZAH| 140,000 x 17% x 12¢ = 28,560
O FEFIH 704,357,590 1/12 x 60% x 23| = 70,436




sh(7100YYHIE  MSh(751)YBk2lH]  =:(101)Q174H] e Rr)
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O A7I2AH| 786,793,560 x 1/12 x 86% x 1/30 x 20 = 37,592

03 JIFARAd) 22224 245,613 271,387 A25,774
O 7l2g 149,599
o FHY 2,637,610 x 2@ x 12% = 63,303
o 2z &2 2,477,900 x 1@ x 12¢% = 29,735
o d3¥ 2,356,700 x 2%H x 12¢ = 56,561
O 2&dr &2 4,488
0 AWM 149,598,240 x 3.0% = 4,488
O ARIRIZ2SY 53,218
o FHY 19,710 x 45A12k x 2 x 128 = 21,287
o 22l 19,710 x 45A|12F x 19 x 128 = 10,644
o Za¥ 19,710 x 45A|7t x 288 x 12€ = 21,287
O BHFIH| 149,598,240 x 60% x 23| / 12 = 14,960
O gatraay 149,598,240 x 1 / 12 x 0.86 / 30 x 20¥ = 7,148
O 7EsY 4,800
o HiRA} 40,000 x 5% x 12¢ = 2,400
0 BWE 20,000 x 4% x 129 = 960
o FAVIE(EH) 60,000 x 2@ x 12¢ = 1,440
O HAZAH| 8,400
o =4¥ 140,000 x 2% x 12¢ = 3,360
o L& 140,000 x 19 x 12¢ = 1,680
o A 140,000 x 2% x 128 = 3,360
O uWELZRH| 3,000
o FH¥ 50,000 x 2% x 12¢ = 1,200
o L&A 50,000 x 1% x 128 = 600
o A 50,000 x 2% x 12¢ = 1,200

04 JHAZE2ASES 213,500 234,173 A20,673
O 7I2g [F8+E raErdsl 28 133,143
o ¥ 76,960 x 1Y x 28 x 128 = 25,859
o FHY 76,9609 x 3Y x 28 x 128 = 77,576
o ZiQl5te 2| WHEX 76,9609 x 1Y x 28Y x 8¥ = 17,240
o YApae 76,9609 x 19 x 27 x 128 x 1/2 = 12,468
O dgz B3E 15,096
o d3¥ 6,800 x 2% x 302 x 128 = 4,896
o FHY 6,8002 x 3 x 30¥ x 128 = 7,344
o ZHQlot 22| HYE=Z 6.800% x 1¥ x 30 x 8¥ = 1,632
o YAfae 6,800 x 1% x 30¥ x 12¢€ x 1/2 = 1,224
O dxzaEsy 5,081
o & 76,9602 x 1H x 12 = 924
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o T 76,960 x 3Y x 12¢ = 2,771
o 7HRI5t 22| WHEZ 76,9602 x 1H x 12Y = 924
o dAR2|A 76,960 x 1% x 12 x 1/2 = 462
O =JLHodH| 3,600
o &2l 150,000 x 1% x12¢ = 1,800
o TH¥ 50,000 x 3% x12¢ = 1,800
O ARIRIZESY 16,624
o &4 14,430 x 39Y x 32A]2t x 12¢ = 16,624
O Y2 Y 11,083
o Az% 115,4409 x 19 x 29 x 12¢ = 2,771
o FHY 115,4409 x 3% x 2¢ x 12€ = 8,312
O BHFH| 4,000
o Za¥ 400,0009 x 1Y x 23| = 800
o FMY 400,0008! x 3Y x 23| = 2,400
o AR 400,0008 x 1Y x 23| = 800
O Ol=H| 1,500
o A= 2 et 7Y 1,500
- Ay 150,000 x 23| x 1Y = 300
- 24 150,000 x 23| x 3H = 900
- Al 150,000 x 23| x 19 = 300
O Hz 3,000
o A 500,000 x 1Y x 18| = 500
o ¥ 500,000 x 3Y x 18| = 1,500
o Ziel5te 2| HHEX 500,000 x 1Y x 18] = 500
o JARHZ|A 500,000 x 19 x 13| = 500
O 7222t B2 (AR ES) 20,373
o HZERHF 187,581,000 x 3.5% = 6,566
o LRIV |QYUREF 6,566,000 x 12.27% = 806
o ZRHFRLF 187,581,000 x 4.5% = 8,442
o LEEURES 187,581,000 x 0.9% = 1,689
o MEHREF 187,581,000 x 1.53% = 2,870
107 EI2Z9 40,000 40,000
02 7HAIZ2ASERE: 40,000 40,000
O 7RMAIZZ22} E[AIE 40,000,000 = 40,000
200 27| 367,739 362,001 5,738
201 YokRH| 267,799 259,951 7,848
01 A2 89,480 87,840 1,640
O YotrgH| 60,200
o SAEA| 7Y 8,820




o (710)3YHIE

Mlgk(751) 2Ekte|d|

=:(201) YR

e oo | EES | Bz
- A4 40,000x 159~ x 128 = 7,200
- A3 45,000 x 3¢A x 128 = 1,620
o BHHTRIE El 1 400,000 x 4t} x 33| = 4,800
o ZZ2H EH 7Y 400,000 x 20 x 4M x 33| = 9,600
o YHIFEE L 2Y=E ¥ 400,000 x 12 = 4,800
o OfAtA 2 ZitM & RO 10,700
- O3[AZ oflatRk 30,000 x 255 x 43| = 3,000
- Of|&kA 30,000 x 3558 x 43| = 4,200
- ZAHM 50,000 x 508 x 18] = 2,500
- A3V HEEE L A4 1,000,000 x 14| = 1,000
o ol MAIRI Y BEE &) AlRH|
2,000,000 x 43| = 8,000
o AASRHERY| L HE 425 7Y 1,000,000 x 47| = 4,000
o 27HEA4AIE & 7Y 300,000 x 12¢ = 3,600
o Sk es 1AM 7Y 60,000 x 4HfA x 12¢ = 2,880
o ZiRISkeA2|AlY 2RSS 7Y 3,000
- Roaiey 2,000 x 50074 = 1,000
- 58X2|AE FAEEY|, PHEYY| A28 7Y
40,000 x 257} = 1,000
- JHQIStrE2IA Y QHAYAM A2 100 x 10,0000 = 1,000
O 93] & 2T 3,750
o P13 MG 3,150
- 7122(2A17H 100,000 x 7% x 33| = 2,100
- 2A12F =3t 50,000 x 7Y x 33| = 1,050
o 7IHAHIZ22t HBHY HAE 100,000 x 2% x 33| = 600
O QU-ziACt 14,430
o ZHEd 30,000 x 249 = 7,470
o Y3l 60,000 x 116% = 6,960
On|gH|(Z22) 150,000 x 5% x23| = 1,500
O =g 9,600
0 ORISR} 5 SAH| 8,000 x 109 x 10 x12¢ = 9,600
02 3a2aH| 2,400 2,400 0
O HAF FRIZHIX A RS2 22|18 200,000 x 12¢ = 2,400
04 UESHSAA=ARIZY| 12,000 11,000 1,000
O UEHEAAE ARREAH| 12,000
o HLHB|(ERH L RIAHAZ=2A))
500,000 x 24%H x 13| = 12,000
(A == 58,040 52,832 5,208
O Agerzg 58,040




(700)AIYHIE  &h(710)FYHIE  MiEh(751)YekaRlH|  =:(201)YEH2EH| chel @
e e | T80 | =2
0 AYS7|Y G/t DAU==ZAL 3,000,000 x 14 3,000
o LIZFYE{(G2B) 0|8 442 20,000 x 403 800
0 HlFHZAMAL Z234 AHZR2f0[MA 1,000,000 x 14 1,000
0 ALB7|Y OfLtS|AIAAG QEMIAH] 22
10,700,000 x 14| = 10,700
0 2023 S|AMIT ZARIAIRY 02 22,000,000 x 14 22,000
0 2023 BAHE BLMPAE 2 AN 42
8,120,000 x 14| = 8,120
o MPIA(FALLY, AR, HiadH]) FA22I8Y o2
2,640,000 x 34| = 7,920
0 2023 AAYESIHAIAH RAURIES £42
4,500,000 x 14| = 4,500
12 ussH| 4,000 4,000 0
O SlEfnsH| 4,000
0 22 QEMIK| IH2 DISAH| 200,000 x 179 x 13] 3,400
o F7|AHSFZ22t JIE NS0 THE I
200,000 x 3% x 13| = 600
13 a= 6,600 6,600 0
O Yz 6,600
0 2317 150,000 x 1cf x 12& 1,800
o ¥57| 50,000 x 60 x 12 3,600
o Hi&| 20,000 x 5CH x 12€ 1,200
21 3323LAM 51,250 51,250 0
O 332324 16,370
0 SFERASIEEE| B3| 4,000,000 x13] = 4,000
o AASZHMI(HE) 2,020
- 58(258) 300,000 x 4cf = 1,200
- ST 200,000 x 3tf = 600
- S=(2¥) 110,000 x 2C = 220
o ZY=E= 8,286
- SE(EFHSE) 440,000 x 4tf = 1,760
- SE(AYHY) 400,000 x 3Cff = 1,200
- 32(A8) 253,000 x 2tf = 506
- SEEA 2,410,000 x 2¢f = 4,820
o BAMEES 120,000 x 2cf x 23| = 480
o HEE2 1,584
- 52(258) 110,000 x 4Cff = 440
- 8487 110,000 x 3C = 330
- 32(A8) 165,000 x 2Cff = 330
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- EEEAD 242,000 x 2Cff = 484
oM, 84l 23 34,880
0 QWI(YLh 500,000 x 12¢ = 6,000
o SHLF(HRlotrA2IAY g5)
400 x 17,0000 = 6,800
o RHLFEHEF 1AM 400 x 4,30001 x 12% = 20,640
o EAle2 1,440
- kst 4 mA 20,000 x 20§ x 12¢ = 480
- EiRj ™ 20,000 x 40 x 128 = 960
22 2| 44,029 44,029 0
O ZfZEH| 44,029
0 5E(58) 4,594,000 x 4Cff = 18,376
0 SE(aYHY|) 1,000,000 x 3Cff = 3,000
0 3F=(£239) 6,914,000 x 2cf = 13,828
o E(EHA 4,000,000 x 2Cf = 8,000
o AtZ2t F7|HE a7 75,000 x 11CH = 825
202 Ofy| 30,540 31,500 A960
01 2ujoiy]| 14,640 17,400 2,760
O JLHodH]| 14,640
0 7230 20,000 x 6% x 6 x 12¢ = 8,640
o POOLOH| 6,000,000 = 6,000
02 o] 12,600 12,600 0
o AIEH O 150,000 x 7% x 12¥ = 12,600
05 JFuK0H| 1,800 0 1,800
O =JLHodH| 1,800
0 3FY us ofy| 100,000 x 18% x 13| = 1,800
08 JFA(R7|A) 2220 1,500 1,500 0
O =LHodH]| 1,500
0 P7IAAZZ22t WK o] 500,000 x 3Y x 18| = 1,500
203 YPFRH| 13,960 13,790 170
01 7|242FUR2L| 3,320 3,310 10
0 7| A2 U 3,310,000 x 1.003 = 3,320
02 FHIHIARZIY| 840 680 160
0 MR 40,000 x 218 = 840
03 AJHRRIAPZ2IH| 5,000 5,000 0
0 AjZZIB22IH| 5,000,000 = 5,000
04 BNR2IURI| 4,800 4,800 0
0 FM2IFYRRI| 400,000 x 12¢ = 4,800
204 AR 55,440 56,760 A1,320
01 ZUSHILAHZ| 1,200 1,200 0




S (710)FYHIE  Mgh(751) k2] =:(204) A3 A (el - M
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O 2GRl 1,200

o 5& 7|&& 100,000 x 19 x 12¢ = 1,200
02 ZAgE=ZRH| 33,120 33,480 A360

O AgEzH| 33,120

0 53 250,000 x 1% x 12¢ = 3,000

0 62 165,000 x 79 x 129 = 13,860

072 155,000 x 58 x 12¢ = 9,300

0 8,92 145,000 x 4% x 12¢ = 6,960
03 EZYFaH| 21,120 22,080 A960

O E3YFaH| 21,120

0 37| SAKRYS 2| 80,000 x 17% x 12¢¥ = 16,320

o Ot L HAUDE ZH| 80,000 x 2% x 12¢ = 1,920

o BQHIIIRLY & 80,000 x 19 x 12¢ = 960

0 ot FrEARLE JREY ZH| 80,000 x 1% x 12¢ = 960

o LAY ZH| 80,000 x 1& x 12¢ = 960
300 FAOIH 417,202 341,152 76,050
304 ¢gRdas 305,342 239,292 66,050
01 dgegZ 240,771 190,315 50,456

O taREa (283 BT Moll2d 2l 229,738

o SaRY=a 57,434,390x 43| = 229,738

O SRAZ22t ZRUAFAHARES) 11,033

o =PIiIgzRS 245,177,000 x 4.5% = 11,033
02 ZYUHLYEHRHES 64,571 48,977 15,594

O 35 Y Bz UARES) 48,977

o BRHYEHREHF 1,246,392,000 x 3.5% = 43,624

o LRIV QAEHREHF 43,623,720 x 12.27% = 5,353

O SRAZ22t HEEH 2B (AMYARES) 15,594

o RRHYEHREF 245,177,000 x 3.5% = 8,582

0 LRIV QAEHRHT 8,581,195 x 12.27% = 1,053

o LEEURES 245,177,000 x 0.9% = 2,207

o MEHREF 245,177,000 x 1.53% = 3,752
307 QIZto|H 1,860 1,860 0
07 ¢FxZ2 1,860 1,860 0

o SRHMHENT 1,408,611,000 x 0.132% = 1,860
317 37|UEEARRES 110,000 100,000 10,000
O 37| (HsR)ELA etEH|RE s 110,000 110,000 100,000 10,000

0 SIEEZAIRE SERISNAR 5,500,000,000 x 2% = 110,000
706 7|EHHEAH2H ol 1276842 A1,276,842
01 Z7Hdzi| 0| 1276842 A1,276,842
770 FYQHIE 200,000 30,000 170,000
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782 H7|&Eeladad 200,000 30,000 170,000
802 HHsay|E} 200,000 30,000 170,000
14 A7|Elayaed 200,000 30,000 170,000

O 7|y ad 200,000,000 = 200,000
800 ofH[H| 140,000 119,071 20,929
801 ojjd[d| 140,000 119,071 20,929
801 ojH|H| 140,000 119,071 20,929
01 Yutof|d|d| 140,000 119,071 20,929

o Of|d|H| 140,000,000 = 140,000




[
BQO0AEE Q30 RERES

ME(233)4=  =:(401)AIEE|ZEH| (Chel &8
e e | T80 | =2
200 AEHR|E 20,276,500 18,617,675 1,658,825
230 RYARZRIS 4,918,700 3,327,817 1,590,883
233 U= 100,000 200,000 A100,000
401 AlGH|L Y| 100,000 200,000 100,000
01 AlgH| 100,000 200,000 100,000
O BHE7|ZAIE AlE7HH| 100,000,000 x 14 = 100,000
234 F== 1,787,700 1,730,000 57,700
401 AldH|LSCHH| 1,787,700 1,730,000 57,700
01 AlgH| 1,787,700 1,730,000 57,700
O otei2 YHIAKY 2 RAIZIANY 1,137,700
o YEM Cida| 531_791% Y 24tz XA
187,700,000 x 14| = 187,700
o di2| ¥E A9 2= YHIAIY 500,000,000 x 14l = 500,000
o ofrtE gH| & F2JAIY 400,000,000 x 14l = 400,000
0 Al2| 207 2812 Y 242 HRISAL LA
50,000,000 x 14| = 50,000
OSAHEIAIY 7HM 150,000,000 x 14! = 150,000
OstrAe|E8 &S fltt ST AIHOTE 2 4712)
500,000,000 x 14! = 500,000
235 A=A 3,028,500 1,191,317 1,837,183
401 A|-gH|ZERChH| 3,028,500 1,191,317 1,837,183
01 AlgH| 3,028,500 1,191,317 1,837,183
O 2H87|2A|4 M 2,638,100
0 7F8ES3IA2|AlE T 820,500,000 = 820,500
0 SUSSIA{2AIE T 402,400,000 = 402,400
o tfelESs{2IAlIE T 417,200,000 = 417,200
0 S/MES3IA2|AlE T 68,000,000 = 68,000
0 2x2{2|AM CieM 930,000,000 = 930,000
O SHE7|ZAIE tid(RHA) 60,000,000 = 60,000
O TOCHERASSEAAZR| A2|(771) 47,200,000x7744~ = 330,400
236 222U 0 204,000 /204,000
405 ZARtRISH| 0 204,000 /204,000
01 ARUEZZISH 0 204,000 A204,000
237 S71FHHIE 2,500 2,500 0
405 ARtR|SH| 2,500 2,500 0
01 ARHUEEZISH| 2,500 2,500 0
O AIRY BIE #Y 2,500,000 x 14! = 2,500
250 SR EHIRSARRIS 100,000 22,000 78,000
253 ATELQ|0] 100,000 22,000 78,000
405 ZREZIEH| 100,000 22,000 78,000




& (250)RHAMUT [EHIRSAMZIS  MEH(Q253)AZER0]  5:(405)R kIS (Che| - 2
_ﬂ%_ of Ab oY dd= = 7}
23N B Off At oA =
11 ZESHAILEZISH 100,000 22,000 78,000
OSSELH AL Y 100,000,000 = 100,000
260 H|7ISAH|RIARRIS 15,067,800 15,057,858 9,942
261 HESQIRpLE 15,067,800 15,057,858 9,942
403 ARR|CHSAH20|A 15,067,800 15,057,858 9,942
02 37| 2SOlCHSHEAII] 15,067,800 15,057,858 9,942
Os0|Z Orgotrr 1,647,200
o(5012 OFSsleT ZH|) 29 4T o2 AR
770,800,000 = 770,800
o(s01& OISstee H)a A2ISdtrH2 Al LAY
876,400,000 = 876,400
O steE | 12,067,600
o (clr2EH)SH o 232 FHAY 3,555,000,000 = 3,555,000
o (olr2EH|)HY 4 stz FHAY 2,597,000,000 = 2,597,000
0 (BIR2AH|)B2| A Flnt2 HH|ALY 1,278,000,000 = 1,278,000
o (SlrAZFH)SH otz FHIARJQTA)
1,948,600,000 = 1,948,600
o (clr2EH|)7IES sl ZHIAIY 312,000,000 = 312,000
o (olrR2EH)SH MU A o512 ZHIAIY
800,000,000 = 800,000
o (Sl EH)HHH ootz FHIAY 244,000,000 = 244,000
o (SlrR2EHNZZH -o3ir= HBIAY 333,000,000 = 333,000
0 (k= HH|)HoAH ol FHIAKY 1,000,000,000 = 1,000,000
OftA7|zAId H- 1,353,000
o(Slr2|d &2)FelSSsra2lAld SHEARI(1AD
174,000,000 = 174,000
o(slr2|d E2) RS SoIrA2IAY SHEARI(1AD
143,000,000 = 143,000
ookl 2E)FBISotr2|Ald SHEARJAQRAN
143,000,000 = 143,000
o(Slr2|d &2)HotSSstra{2|Ald SHEARI(12D
143,000,000 = 143,000
ookl &) MHISoIrH2 AL SRR
500,000,000 = 500,000
ootrA2lY &2)THATL IS AL SHARI(12))
250,000,000 = 250,000
800 OiHH| 190,000 210,000 £20,000
801 OiH[H]| 190,000 210,000 20,000
801 Oju|H] 190,000 210,000 20,000
01 gtofH|y| 190,000 210,000 20,000
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